FORMULE NEL FOGLIO DI CALCOLO “Trafi_RX”

CELLA | FORMULA NOTE

B11 | tgom =’;—

HII 2
B12 #p=y5[1+(u—;)]

wh\?
BIS |y = w11+ (%) ]
B14 IMap Map

Zp =Zip|(1-10720 )/(1+ 10720 ) [Q]
Ir| I
B15 | SWR = |(1 —10720)/(1 + 10#)|
B16 N, = \/(ZP106)/(8n2f Uiz + ul'? ;ﬁ) [spire] f [kHz], Ae [cm?] e le [cm]
B18 | L, = 4nf—:1v,§#;, [nH] Ae [cm?] € le [cm]
B19 | X,, = 2nfL,, 1076 [Q] f [kHz] e Lm [nH]
B20 | R, = 82 f’j—: NZui 1076 [Q] f [kHz], Ae [cm?] € le [cm]
B21 Ns = Np\/Zout/Zin [spire]
2
B23 Zz,mt = (x_z) Zout ['Q']
B24 |N=122
B25 | ||,z = 20log |% dove Z, = % b= %zu; Xm [H] il resto in [Q]
Ir| Ir|

B26 | SWR = |(1 —10200)/(1+ 10#)|

ZichZ{)u H H
B27 | fi= (RcZ{,uﬁZinZ[,ut+Zin;c)2an10‘6 [kHz] Lm [nH] il resto in [Q]
B29 Lyp =1, (Np + 1) [cm] Lw [cm]
B30 lys =1,(Ng+1) [cm] Lw [cm]
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